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B. Com. (Second Year) Examination, 2018-19

(Accounting)
Paper : Second
COSTACCOUNTING
Timie Allowed @ Three hours

Maximum Marks @ 40

e ;@ i @vel & wve FaR g S A
7 o moet & @y far o #
Note : Attempt questions of all three sections as direcred.

Distribution of marks is given with sections.

@[ue-3A
Section-A
( T WY ) 5x1=5
(Objective Type Questions)
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Attempt all the following questions, Eag,

question carries I mark.

1. ®§ IW F 997 Hfag—

Choose the correct answer :

() v A A S 4 g ey

]
(a) 198}
() 1911
(c) 190]
(d) 1921

Rowan premium plan was execyted by

Rowan i - Tames
(a) 193]
(b) 1911
(c) 1901

(d) 1921
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(ii1)

(3]
(a) 3333%
(b) 50%
(c) 100%
() 45%

If profit is 33 1 % at sales then it Wi <o peiwant ol

cost :

(a) 33-33%
(b) 50%
(c) 100%
(d) 45%

fafez gm0 =1 =gq §—
(2) o g

(b) s =R

(c) ¥ T

(d) =W

Tender price is also called -
(a) Quotation price

(b) Estimated cost

o D=27 )
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(iv)

(v)

[ 4]
(c) Standard price

(d) All

frefefers 4 2 27 i w2 @ o 6 wfota
Il §—

(a) 3maFy

(b) T E
(c) wram Iufray
(d) f@m Tmw

Which of the following item is included in cost

accounts

(a) Income Tax
(b) Transfer fees
(c) Workover head
(d) Rent Reccived

F fagm 71 m % fay @R W g wem g
I &—

(a) SP(SQ - AQ)
(b) SP (RSQ - AQ)
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(51
(c) SP(SQ-RSQ)
(d) AP (RSQ - AQ)
Which formula is used for calculating material mix
vanance
(a) SP(SQ-AQ)
(b) SP(RSQ - AQ)
(c) SP(SQ-RSQ)
(d) AP (RSQ - AQ)

TqUs-o
Section-B

(VY I7Ta 9T 5x2=10
(Short Answer Type Questions)

qz . B OfE §T & Iv G0 ¥dE Y 8 U
vvg FTN AT &1 7w 5 2 owr e #

Note : Attempt all five questions. One question from
each unit is compulsory. Each question carries
2 marks.

v -1
Unit-I

D-275 PTO

http://www.rdvvonline.com —_—

iy

WO UTUOAAPT MMM/,

http:/fwww.rdvvonline.com

WO AUIUOAAPS mmam//diy

2,

6]
AT W1 TE R M A 7

What is mcat by umt at cost?

yaar
Or
foret am wren fafucl = &7

What are LIFO and FIFO methods”
http://www.rdvvonline.com

-1l
Unit-11

T T EE TN WO TC |
Explain the wtility at machine hour Rate

AU
Or

TR T T TR Pk FTIC
Give a specimen at production accounts
vaT-1

Unit-111

TG wEA AR By s 7

What s a Sab order costing?
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[71
Jaan
Or

T wfereET ¥ I w7 seeaq
What are the objects at transport costing? Explain.

yE&f-1v

Unit-1V
£ e T i a T b
How is the cost at abnormal loss units is calculated?

Jraar
Or

R e o ow v

Prepare the proforma at reconciliation statement.
-V
Unit-V
6- 5‘: 'z.-(l"-:'..:.J Lﬂagwl -:l-':T t:
What is labour efficiency variance?

Haqgr
Or
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8]
wom T e & It T

Discuss the objective at standard costing,

TUE-H
Section-C

(¥ Iwrita vy )
(Long Answer Type Questions)

5"‘5&25

L mﬁ“hm'*miﬁﬁmmmgﬁw
T & T &1 I=E 57 5 st a3,

\' & &
iote ; Attempt all five questions. One question from

each 5 - y
MRS compulsory Fach question carrpes

5 marks.
YaTg-1
Unit-I
L itic TG
50 unit
1 _— 25 unit
75 unit
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191 |10 ]
’ 00 unit
A 30U v
A EA A B 500 unit Or
A 40 2 W AW (W)
. = faam WM AR
T A 3 o 2§ 4 WATE ﬁ..._‘_h
fei® wfi feriaw Eupe!
Yw W A T = 2019 2019
(a) T AT w0 - T e
> (b) 7w TN _ - w9 {100 | 10 RT3 40
;’ (c) AfTM T ; ; 15319 | 200 15 1673 100
2 Two componenis A and B arc used as follows : E E 20319 | 100 | 20 A1 60
= ; - _
g Normal usage 50 unit g“ g“ From the following particulars write up store lager accounts
= Minimum usage 25 uni =, 2. (FIFO) :
o . 5 3 : _
Q Maximum usage 75 unit 2 g Date Reccipt Date Issite
= . = 3 2019
Reorder quantity A 300 unit 2019
L H
B 500 unit Per unit
. 23/19 | 100
Re-order period A 4 to 6 weaks 10 n 40
15/3/19 | 200 15
B 2 to 4 weaks s 1673 100
2073/19 1 100
Calculate cach component : 20 2413 00
(2) Re-order level "
(b) Minimum level Unit-11

(c) Maximum level

. D27 o . D21s _
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8. 3 wa, Fhim ot 2w v 8-
LTIy wa P faa
yelw &% fey nf 36 600 4400
YE: % fem wagl 48 400 1200
Fomst gl 600 3000 600

7571 STArn 3RO ¥ 60,000 HITH) VeF FER ¥ A
w1 v wf@r T wen & 1 FraErE 3o G
0 % 333m @ 2w 4 wa % g ik 2 FAE
fm e a9 |

A manufactures Stool, Chair and Tables :

"articulars Stool  Chair  Table
Material for cach 16 600 4400
Wages for cach 1-8 4-00 12-00
Prodduction unit 6000 3000 600

You are required to determine the work cost of each type
ol fueniture after assuming that onc table is equivalent to
foar staols and two charis are equivalent to onc table for

the purpose at factory overhead allocation.

araean
Or
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|12}
fm owd R TR 9 W A T HifEC—
TG # TR 18600
I 4 3400
RUA 1 afme 1 1700
e & fem =3 1300
wYe W & fag wo 2800
v Inim i 4 @ @ 16 $F v =

R ® Y9E FETE dET 5 10,000 €2

Compute machine hour rate at a machine for the following

figures :

Cost of machine 18600
Installation exp. 3400
Scrap value of machines 1700
Standing charges for the month 1300
Repairs for working life 2800

(Power consumption per hour 4 unit @ 16 paise per unit)

10,000
hours

Effective working life at the machine
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[13]
vaT§-11
Unit-111
9, 33 s Tm w1 whw, 2018 W wm fope | PRI
TN § T oA wR | W Pt w1 ¢ 60,000 HHTE
THLT ¥ 50%, FrH =T TRHTE 1 25% WL ¥ 21,0001
T 7 2,000 57 3 @ 72 W G AW T 1,000 F W
T WY1 31-3-2019 W) H T A= ¥ 18,000 F @I
7T v o ¢ 1,20,000 &1 F fE yE TR @7 80%
tammta ww v 4500 € T O 2,00,000 &

Ansh commenced his contract on Ist April, 2018 prepare
centract A/c from the following information. Materials
issued T 60,000, wages 50% at materialis issued. Indirect
expenses 25% of wages. plant 7 21,000 material worth
? 2,000 were lost in fire and worth 7 1,000 were stolen
away by thieves. Plant at site on 51-3-19 was 7 18,000
cash received ¥ 1,20,000 which is 80% at work cerufied
work uncertified * 4,500. Total contract value 15 ¥

2,00,000

Or

 D-278 ] PTO
http://www.rdvvonline.com

WO AUTJUOAAPY a1y

http:/fwww.rdvvonline.com

WO AUIUOAAPS mmam//diy

| 14 ]
mmmﬁzﬁﬂwmwﬁtmﬁqw
g M-

| Il
O %1 T 2,000 1,800
F W T 1,500 1,200
¥ 2,800 3,000
™ 400 500
L 1,200 1,050
¥R 4,000 3,600
T = fem 2900 2750
TE = 700 800

Wﬁ?&.c:oﬁﬁqﬁnﬁa&tmamﬁ
“‘Tllﬁtﬁh,scafﬁ::‘:{ﬁnﬁﬁ:ra?—a
E'-'ﬂ‘:l':faafm‘fmﬁmﬁ|

The following €xpenses were incurred by a company 1n
Operaung two Truck for one month -

I I
Driver wages 2,000 1,800
Cleaner’s wages 1,500 1,200

D-27%
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Diesel 2,800 3,000
oil 100 500
Repairs 1200 1,050
Depreciation 4,000 3,600
Garage Rent 2,900 2,750
Road Tax 700 800

First truck carried 100 tonne at raw material and concred

2 distarice at 3,000 kilometre. Second truck carried 120
g

tonne of raw matenal and convered a distance at 4,500

k-m. Find out cest per ton km.

=g-IV
Unit-1V

(T ERE M N ATy ¥ e 1A
10. T L

w e A

M N
== 5T 10% 5%
T T OAEE (7 TEY) 20 30
== firira 7,500 YRS ¢ 2 57 TR
¥ TEn : 15.000 8,000

T 55 10,000 8,000
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S 5225 3855

TN rq;mﬂ 7,000 6,200 .

‘A’ product passes through two processes "M’ & ;N‘

before completion from the following information,

Prepare process accounts.
http://'www.rdvvonline.com M N
Normal wastage 10% 5%
Sales of wastage (per unit) 20 30
Input st matenal at ¥ 2 per unit 7500 (units)
Other matenals 15,000 8,000
Direct wages 10,000 8,000
Factory expenses 5,225 3855
Output unit 1,000 6,200

g

Or

mwnmﬁ!ﬁwmﬁ:fmam%:mmﬁmaﬁq

wg)

E&phljn reasons for difference between cost profit and
financial profic.
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-V
Unit-V
11, v @R fa # e i) [
- % amﬁl_______
|
ar < T T
X 100 2 120 2:20
Y 50 5 60 4-50
Calculate material cost variance.
Standard Actual
Materials
Materia . Ratc Qty. Rate
N 100 2 120 2:20
Y 50 5 60 4-50
agar
Or
ad 2018 ¥ sE e 71 feufa f 79—
?
fa 1,20,000
[ &}
ofEdaea I 96.000
b ICA L 24,000
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[18]
o Ison
T o 8,000
7] Fia—
(i) TM-SEA STIA
(ii) F9-fredz fag

Giii) T ¥ 1,80,000 F faw &

In 2018 the position at Anvi Ltd. was as follows -

?
Sales 1,20,000
Variable overhead
Contribution 24.000
Fixed Exp.
16.000
Net Profit
) 3,000
Find out :
(i} P/V Ratio
(i) BEPp

(11i) Net profit for the sales at ¥ 1,80,000
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